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Topi ment Master:
Name 7. Edisraiing for arace.He an 10, Kassandra has  rectangularpato i opic Assesst H5
1256 mileson one day and 1298 mles backyord. The patio 1274 meteslong
1. Adolhouse hs 1515 squar feet 5. Lowrence spent 1890 thenextday and 545 meters wice.
downstais and 6.25 squar eet bottleof pintand $0.45 1 n e 2
upstals. Whichof the following the onabrush. Assessment T — g, | impmm
estestimate of the totl area i the . What s i combined distanceforthe s et | 5 gt o e
dolivouse? 1 point firsttwo days? 1 point Sommmme, | e s
® 2, What was the total amount he spent? e ot e
9 square feet Use the model to help you. 1 point 25.54 miles 1274m e e (saateet
® 21 squarefeet b Parch (s
art
© 78 square feet und the length and width to the
“ doythan he fstdoy 1 point the perimeter of Kassandras ptio Wrte i s1er )
2.3 ile 2n equation to model your work. 1 point Sum e
$1215,51685,mnd5174.1 point s 36 motrs s N
wation: ——
® sa900 Explin how the model helps you find Somple equation: e | |, | P
A thesum. 1 point 5. The Thomas Jefferson Memoral s on ST || Thenumberofamall ©
1836 acres ofand and the Frankiin pe @ squaresshaded inthe © s
© sw08s Sample answer: The number of Delano Roosevelt Memorial s on i 2nd grd i the number . 32+ 13,
® s ll grds shaded is the number 75 acesofland.How many ore acres Round the ength and widih tothe sn g .
of dollrs. The number of small isthe efeson emortal thanthe nearest enth.The estimate the e
S————— squares shaded in the 3rd grid is Roosevelt Memorial2 1 point permetr of st pato Wit an i
3. Choose allthe expressions that are equal the number of cents. ® ossacres Suion' modelyourwork. | polnt e, o s,
10265 +375.1 point @ wsssaes 36.4 meters; ol s A v mambers
@ 2564257 e © 13taces Somple equation: S ok vowdad o the et
@2 thelft o the equilent decimal on © 1761 a0es PEASARSP AT prein el ooy
0 10-387 vighe. T point panc Next Page
951308 T1ess ind the exoct permeter Which estimate
L] A0S wildowe 9. Abox weighs 237 pounds Anather o e eter e et
O a2 = eorecisfipvicraisiod iscset g
‘combined weight of the two boxes? abinblohointel ok S
Drawand abel a br diagram 1o model - Sample fon:
4. For questions 4a-4d, choose Yes or No. 4254155 7 47 d 36.38 meters; Sample explanation:
mle\V:henumbustmmkun(h tha problam. 2 poknls “"‘:"’"'b‘l" 'W"m ”'h'l"”"‘
cauationtrue. 1 point Lnazes 7 2 : tenth are loser fo the actual
a poi - 30.61 pounds; ‘measurements. So, that esfimate is
40,495+ =121 @ Yes O No Combined 3061 closer o e excperimeto, Scoring Guide
41082 123770 v @ No gt o
4847+ 5520 Yes @ No T T Item Points Topic Assessment (Student’s Edition and Masters)
44914 =199 s ONo Box1 Box2
1 1 Correct choice selected.
Topica | Asessment 105 06 Topica| Asssament SE— i
2 1 Correct choice selected.
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